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What 18 the solution to the cquation
above?
A x = —218
B B
x 40
C.x —-i—;
1..X —%
12x +1}=5
Which of the follwin /‘&f possible value of x?
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5x%—3(1 — x) — 2x(x + 5)

Which of the following polynomials is equivalent to
the expression above?

@ 3x*=7x-3
B) 3x2 4+ 7x-3
C) 5x*—5x -3
D) 5x%-9x-3
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—3<2x—y < 14
Which point could be the solution for
the inequality above?

200) =3~ -3

20 - (-D=16

203 X *
D. (4,12)

Jackie has two summer jobs. She works as a tutor,
which pays $12 per hour, and she works as a
lifeguard, which pays $9.50 per hour. She can work
no more than 20 hours per week, but she wants to
earn Qt 18as6$220 per week. Which of the following
systems of inequalities represents this situation in
terms of x and y, where x is the number of hours
she tutors and y is the number of hours she works as
a lifeguard?

= b
JA) 12x+9.5y < 220
x+y=220 N
B) 12x+9.5y < 220 % 7y Lle

x+y<20, ~

(C) 12x+9.5y 2220 L—

x+ys20, —

T 12x+9.5y > 220
x+y220 K

(2x - 1\)9( + )

The given expression 1s equivalent to ax” + bx + c,
where a, b and c are constants. What 1s the value

of b?
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(X - l- + :i)" - 3}" = 16

The equation above forms a circle when graphed in
Lhe xy-plane. What is the radius of the circle?

16 1

o—

In the xv-plane, a circle has center (0, 0) and
radius 2. Which of the following 1s an equation of

this circle? L
2 2
YW 2x*+yv'=0 (x,a) + (4-0) = 2
@ +y'= -
~t -
BDx+2) +(y+2)’= o S
D) (x+2)'+(y+2)'=
3 g s
3] 2 X
N
Vx2+20x+y2+l6y=-?;0/ B
The equation above defines a circle in the xy-plane.
What are the coordinates of the center of the circle?
A) (-20,-16) | 6
("'10, -8) “L
C) (10,8) (/ID/
D) (20,16)
Mr. Kably
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What is the @dibs of the cirde in the x)-plane with
equation x” + y* =Q57)

95 =5

Which of the following is an equation of a circle
in the xy-plane with center (3, —1) and a radius
of 4?

A) (x-3)+(y+1)2 =4

(Jr—--3)2+(y~i-1'.)2

g\(x+1)2+(y—3)2=4

(x+3)2+(y-1)2%=16
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[n the xy-plane, the graph of

;c
P e
W) =3 C

+2v =45 isacircle. What is the
5= 5

) )
2X°=6X+2y°
-7 T %

T
B) 6.5 - (:/%)Qe (1/2) +12-5
C) \"T
D) 50
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In the xy-plane, what is the x-coordinate of the The graph of x* - 4x + y* + 6y - @ et
‘?
center of the circle with equatlon 0 xy-plane is a circle. What is the radiusiof the circle?
g ty 4= _ el W+ 8= 7N
D Awe 7
_6__ 3 2
%—I/ B)\/ﬂ Y = (_134'-234?’“
(D
D) 76
—? Dgz
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t-rv-’\ 8y =8 b
; e~
The equation of a circle in the xy-plane is shown
above, What is the racius of the circie?
yeo (,%)2-6(’}{)2-"%
- 5
Mr. Kably
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